Math 152-AN Hour Exam #4 | Satake

N WY

Read all directions and problems carefully! Show all appropriate work for credit.
1. Evaluate the following integral using Trig Substitutions. (21 pts.)
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2. Five the partial fractio? decomposition for the function. Do not integrate. (12 pts.)@
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3. Use the method of partial fractlons to evaluate the following integral. (18 pts.)
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4. Evaluate the following Improper Integrals or state that they diverge. (22 pts.)
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5. Find the specific solution of the following Initial Value problem. (15 pts.).
y()=-2y+3, y(0)=1
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6. Find the general solution of the separable differential equation Q)f— Verify that

your solution is in fact a solution of the dlfferentlal equation. (12 pts.) 2)(
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* Solution of a First-Order Linear Differential Equation
For y'(1)=ky+b, the solution is y= Cek’_i 2’(
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